

TO VALIDATE, GO TO Certificate Number: GI-COO-50995-66c77ba654e1b **VERIFY.FTGS.US** Date: August 22, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LONG BEACH
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110	Export Date 2024-08-16	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410398751
China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1556 bales Total: 658.973mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.335mt	United States
Marks: BMOU5241379 52bales		
Alfalfa Hay	21.673mt	United States
Marks: CAAU5483810 52bales		
Alfalfa Hay	22.353mt	United States
Marks: CAAU7500054 52bales		
Alfalfa Hay	22.689mt	United States
Marks: DRYU9201190 52bales		
Alfalfa Hay	21.827mt	United States
Marks: DRYU9802247 52bales		
Alfalfa Hay	22.036mt	United States
Marks: EGHU8477667 52bales	WALL HARM	ZXXXXXX
Alfalfa Hay	21.555mt	United States
Marks: EGHU9526051 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold
- harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-50995-66c77ba654e1b **VERIFY.FTGS.US** Date: August 22, 2024

Transport Type Port of Loading Seller (Exporter) Vessel LONG BEACH Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **TianjinXingang** CA USA **Export Date Exporting Carrier** N/A 2024-08-16 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410398751 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1556 bales Total: 658.973mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.555mt	United States
Marks: EGHU9652846 50bales		
Alfalfa Hay	21.700mt	United States
Marks: EGSU9144181 52bales		
Alfalfa Hay	20.675mt	United States
Marks: EGSU9393029 52bales		
Alfalfa Hay	21.754mt	United States
Marks: EGSU9418810 52bales		
Alfalfa Hay	21.854mt	United States
Marks: EGSU9732523 52bales		
Alfalfa Hay	22.090mt	United States
Marks: EISU8525715 52bales		
Alfalfa Hay	21.981mt	United States
Marks: EISU8565770 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-50995-66c77ba654e1b **VERIFY.FTGS.US** Date: August 22, 2024

Transport Type Port of Loading Vessel LONG BEACH **Destination Country Destination Port** China **TianjinXingang Export Date Exporting Carrier** N/A 2024-08-16 Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410398751 Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent N/A N/A

Buyer (Importer)

Seller (Exporter)

43 Corporate Park

Irvine

Consignee

CA USA

China

Healthy Green Life Corporation

Hohhot Comprehensive Bonded Zone,

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1556 bales Total: 658.973mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Nfalfa Hay	22.108mt	United States
Marks: EITU1081000 52bales		
Alfalfa Hay	21.745mt	United States
Marks: EITU1340740 52bales		
Alfalfa Hay	21.700mt	United States
Marks: EITU1463298 52bales		
Nfalfa Hay	22.108mt	United States
Marks: EITU1566629 52bales		
Nfalfa Hay	21.990mt	United States
Marks: EITU1751289 50bales		
Nfalfa Hay	20.911mt	United States
Marks: EITU1835970 52bales	MANHAMA	TAXXXXX
Nfalfa Hay	22.072mt	United States
Marks: EITU1919393 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods. The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-50995-66c77ba654e1b **VERIFY.FTGS.US** Date: August 22, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LONG BEACH
Irvine CA USA	Destination Country China	Destination Port TianjinXingang
Consignee	Export Date 2024-08-16	Exporting Carrier N/A
tation 3E-028, Beixing Lianchuang Center, ohhot Comprehensive Bonded Zone,	Import Permit Number N/A	Bill of Lading / AWB 401410398751
luimin District, Hohhot, Inner Mongolia 010110 hina	Owner or Agent N/A	Forwarding Agent

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1556 bales Total: 658.973mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Nfalfa Hay	22.027mt	United States
Marks: EMCU1843007 52bales		
Alfalfa Hay	22.761mt	United States
Marks: EMCU8362256 52bales		
Alfalfa Hay	22.217mt	United States
Marks: EMCU8550551 52bales		
Nfalfa Hay	22.725mt	United States
Marks: EMCU8641076 52bales		
Nfalfa Hay	22.562mt	United States
Marks: EMCU8822520 52bales		
Nfalfa Hay	21.918mt	United States
Marks: MAGU5395551 52bales		ZXXXXX
Nfalfa Hay	22.371mt	United States
Marks: TGBU4359864 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: GI-COO-50995-66c77ba654e1b

VERIFY.FTGS.US

Date: August 22, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LONG BEACH
Irvine	Destination Country	Destination Port
CA USA	China	TianjinXingang
Consignee	Export Date 2024-08-16	Exporting Carrier N/A
nner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone,	Import Permit Number N/A	Bill of Lading / AWB 401410398751
Huimin District, Hohhot, Inner Mongolia 010110 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

greater irvine chamber Destination Irvine Economic Development

Remarks Total: 1556 bales Total: 658.973mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.371mt	United States
Marks: TRHU6466675 52bales		
Alfalfa Hay	21.310mt	United States
Marks: TRHU8097030 52bales		
end of products	====	
	XXXXX AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA	
		D A Z Z Z
	N WWW HARMAN	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

COMMERCIAL INVOICE

EVER FRANK

LONG BEACH, CA

1360-020W

Evergreen

Invoice No.

SD-202408018

Date:

8/5/24

Shipper/Exporter:

Vessel: Voyage No.:

Shipping Line:

Port of Loading:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

SDHT-HGLC2024-6 Contract No.:

Booking No.: 401410398751

USA Country of Origin:

Discharge: TianjinXingang, China

9/14/24 ETA:

ETD: 8/16/24 Price Terms: CIF

Container No.	Seal#	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU5241379	A1530662	Alfalfa Supremi	52	22.335	\$390.00	\$8,710.65
CAAU5483810	A1530532	Alfalfa Supremi	52	21.673	\$390.00	\$8,452.47
CAAU7500054	A1530739	Alfalfa Supremi	52	22.353	\$390.00	\$8,717.67
DRYU9201190	A1530736	Alfalfa Supremi	52	22.689	\$390.00	\$8,848.71
DRYU9802247	A1530539	Alfalfa Supremi	52	21.827	\$390.00	\$8,512.53
EGHU8477667	A1530682	Alfalfa Supremi	52	22.036	\$390.00	\$8,594.04
EGHU9526051	A1530687	Alfalfa Supremi	52	21.555	\$390.00	\$8,406.45
EGHU9652846	A1530714	Alfalfa Supremi	50	21.555	\$390.00	\$8,406.45
EGSU9144181	A1530540	Alfalfa Supremi	52	21.700	\$390.00	\$8,463.00
EGSU9393029	A1530735	Alfalfa Supremi	52	20.675	\$390.00	\$8,063.25
EGSU9418810	A1530563	Alfalfa Supremi	52	21.754	\$390.00	\$8,484.06
EGSU9732523	A1530616	Alfalfa Supremi	52	21.854	\$390.00	\$8,523.06
EISU8525715	A1530577	Alfalfa Supremi	52	22.090	\$390.00	\$8,615.10
EISU8565770	A1530537	Alfalfa Supremi	52	21.981	\$390.00	\$8,572.59
EITU1081000	A1530661	Alfalfa Supremi	52	22.108	\$390.00	\$8,622.12
EITU1340740	A1530688	Alfalfa Supremi	52	21.745	\$390.00	\$8,480.55
EITU1463298	A1530683	Alfalfa Supremi	52	21.700	\$390.00	\$8,463.00
EITU1566629	A1530731	Alfalfa Supremi	52	22.108	\$390.00	\$8,622.12
EITU1751289	A1530613	Alfalfa Supremi	50	21.990	\$390.00	\$8,576.10
EITU1835970	A1530566	Alfalfa Supremi	52	20.911	\$390.00	\$8,155.29
EITU1919393	A1530536	Alfalfa Supremi	52	22.072	\$390.00	\$8,608.08
EMCU1843007	A1530580	Alfalfa Supremi	52	22.027	\$390.00	\$8,590.53
EMCU8362256	A1530668	Alfalfa Supremi	52	22.761	\$390.00	\$8,876.79
EMCU8550551	A1530711	Alfalfa Supremi	52	22.217	\$390.00	\$8,664.63
EMCU8641076	A1530670	Alfalfa Supremi	52	22.725	\$390.00	\$8,862.75
EMCU8822520	A1530715	Alfalfa Supremi	52	22.562	\$390.00	\$8,799.18
MAGU5395551	A1530737	Alfalfa Supremi	52	21.918	\$390.00	\$8,548.02
TGBU4359864	A1530686	Alfalfa Supremi	52	22.371	\$390.00	\$8,724.69
TRHU6466675	A1530738	Alfalfa Supremi	52	22.371	\$390.00	\$8,724.69
TRHU8097030	A1530667	Alfalfa Supremi	52	21.310	\$390.00	\$8,310.90
Total Value:	•		1,556	658.973		\$256,999.47

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

